

$$Ax + By = C$$

$$Dx^2 + Ex + Fy = G$$

$$y = (C - Ax) / B$$

$$\hookrightarrow Dx^2 + Ex + \frac{F}{B}(C - Ax) = G$$

$$Dx^2 + \left(E - \frac{AF}{B}\right)x + \left(\frac{FC}{B} - G\right) = 0$$

$$x = \left[ \frac{AF}{B} - E \right] \pm \sqrt{\left[ \frac{AF}{B} - E \right]^2 - 4D \left[ \frac{FC}{B} - G \right]} / 2D$$

14

$$x_{1,2} = \left[ \frac{AF}{B} - E \right] \pm \sqrt{\left[ \frac{AF}{B} - E \right]^2 - 4D \left[ \frac{FC}{B} - G \right]} / 2D$$

$$y_{1,2} = (C - A[x]) / B$$

$$* x_1 \rightarrow y_1 \wedge x_2 \rightarrow y_2$$

13

$$Ax + By = C \rightarrow y = (C - Ax) / B$$

$$Dx^2 + Ey = F \rightarrow Dx + E \left( \frac{C - Ax}{B} \right) = F$$

$$\rightarrow \left( D - \frac{EA}{B} \right) x = F - \frac{EC}{B}$$

$$\hookrightarrow \begin{array}{l} x = \frac{F - \frac{EC}{B}}{D - \frac{EA}{B}} \\ y = \frac{C - A[x]}{B} \end{array}$$